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Solutions

Solutions (1-3):
Sol.

{+)P _R[-)

| (+)

S(+) Q(-) U

0(-) T 6] V(-)

S1. Ans.(b)
S2. Ans.(d)
S3. Ans.(c)
S4. Ans.(a)

1&(-) D(+) EI-)

C ) B(-)

S5.Ans.(b)
Solutions (6-8):
Sol.




C | A H

S6. Ans. (e)
S7. Ans. (d)
S8. Ans. (c)
S9. Ans. (d)
Sol.

Symbols $ @ % #

Coded for | Son Mother Son-in law | Daughter

Given equation: P$R# M % N

N()
(+Im =(!)
(-)R
(+)P

Since, the gender of N is not defined, the relationship between N and R can’t be determined.

S10. Ans. (c)
Sol.

Riya's grandfather (+)

Grandfather's sister(-)

Riya's mother (-] Sister's son [+)
Riyal(-} Girl [-)

Clearly, the girl is Riya’s cousin.

Solutions (11-12):



S11. Ans. (b)
Sol.

Symbol x - - +

Coded for | Mother | Brother | Wife | Father

)
I

(+IR==P()
I

(+)a—s()
Clearly, Q is grandson of T.

S12. Ans. (e)
Sol.

Symbol X - + +

Coded for | Mother | Brother | Wife | Father

(U

(-)w
N\

(+)B—(-)H==L(#)

Clearly, the expression ‘U+WxB-H=+L’ represents W is mother of H.
Solutions (13-14):

S13. Ans. (e)
Sol.

(IT==12(+)
X( )—M(-)—_|—Y(+)—Q(-)
W(-) N()
Since, the gender of N is not defined therefore, it can’t be determined.

S14. Ans. (c)
Sol.



CIT=12(+)
X( )—M(-)—_|—Y(+)—Q(-)

W(-) N()

Since, the gender of X and N is not defined therefore, it can’t be determined.
S15.Ans.(b)



